3513 Integration by Parts
The integration by parts formula is / f(z)d'(z)dz = f(z)g(z) — / f'(z)g(z)dz.
1. Evaluate the integral f z4(Inz)dz. |
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2. Evaluate the ﬁtegd / z? cos 5zdz.
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3. Given .f(l) = 39 f(5) = 10, .fl(l) = 4’ f'(5) A-' 77 fl f(x)dz =15a fffl(z)dz =
© 20, [ 2?f(z)dz = 25, find the value of the integral
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6514 Integration using u-substitution

ddzx
25 + 162

LeT U=A5+16X* Hen du=3axdx Xdx=
SIGL S (1-as Wl)é“ "512. Lu—as5aiu]+e

1. Find the antiderivative /
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2. Evaluate the indefinite integral /
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3. Find the antiderivative / [8 + 3sin(5x)] /% (cos 5z)dz
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4. Evaluate the indefinite integral /
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8515 More u-substitution

1. Find the antiderivative ||[cos5z + sin5z]%/3[cos 5z — sin 5z]dx
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2. Evaluate the indefinite integral [ (12 + 5z)%2dz. -2
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3. Find the antiderivative / (10 + 323)97% dz, using u® = 10 + 3z2.

Lot US=10+3x™> , then SU%dU= bxdx
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4. Use integration by parts to evaluate the indefinite integral f zv2z + 3dz.
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